Part list:
Pos. 1 - 14605-2
1x

Pos. 11 - 14605-12
2X

Pos. 7 - 14605-8
2X

Pos. 2 - 14605-3
1X

1x

1X

Pos. 12 - 14605-13
2X 2X

Pos. 3 - 14605-4

Pos. 8 - 14605-9

Pos. 13 - 14605-14

Pos. 4 - 14605-5 Pos. 5 - 14605-6
1x 1x

Pos. 9 - 14605

-10 Pos. 10 - 14605

-11
8x ;

4x

Pos. 14 - 14611-1-0
2X o

CalfBox

Assembly Instructions
Art. no. 14611

1

Pos. Al Pos.A2 Pos.A3  Pos. A4 Pos. A5 Pos. B1 ;os. B2 EAO]SQ-XB;O R\o]sz. B4
M10x30 M10x50 M10x80 M10 F10 o1 2X X o y
4x 4x 2X 10x 10x - X
14605-29
¥ E H ® o ¢ / &
: ) Pos. C1 . Pos.C3 Pos.C4 E Pos. D1 Pos. D2 Pos. D3
M10x50 R\o]Sof}% M10 F10 14605-18 M10x50 M10x70 M10
14605-30 8x 4x Ax 12% 2x 2X 4x
e -

!

w e e @ a ** %

DOKID 20030




. 2 hHhlIHT_ik \




	Blatt1
	Zeichenansicht2
	Zeichenansicht3
	Zeichenansicht4
	Zeichenansicht5
	Zeichenansicht8
	Zeichenansicht10
	Zeichenansicht12
	Zeichenansicht13
	Zeichenansicht14
	Zeichenansicht15
	Zeichenansicht17
	Zeichenansicht18
	Zeichenansicht20
	Zeichenansicht21
	Zeichenansicht26
	Zeichenansicht30
	Zeichenansicht32
	Zeichenansicht33
	Zeichenansicht34
	Zeichenansicht36
	Zeichenansicht39
	Zeichenansicht41
	Zeichenansicht45
	Zeichenansicht46
	Zeichenansicht47
	Zeichenansicht48
	Zeichenansicht51
	Zeichenansicht53
	Zeichenansicht55
	Zeichenansicht56
	Zeichenansicht57
	Detailansicht A (1 : 10)
	Detailansicht C (2 : 25)
	Detailansicht D (2 : 25)
	Zeichenansicht87
	Zeichenansicht89
	Zeichenansicht90

	Blatt2
	Zeichenansicht58
	Zeichenansicht60
	Zeichenansicht61
	Zeichenansicht62
	Zeichenansicht63
	Zeichenansicht64
	Zeichenansicht65
	Zeichenansicht66
	Zeichenansicht67
	Detailansicht F (2 : 25)
	Detailansicht G (2 : 25)
	Detailansicht H (2 : 25)
	Detailansicht I (2 : 25)
	Detailansicht L (2 : 25)
	Detailansicht M (2 : 25)
	Detailansicht N (1 : 8)
	Zeichenansicht81
	Detailansicht O (1 : 10)
	Zeichenansicht83
	Detailansicht P (1 : 10)
	Detailansicht  (1 : 10)


